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I 2o (lg aiygn el alin] Caldl)
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g lou) dall) iyl dald) de N a1l



https://almanahj.com/ae/pages/search?teacher_name=مصطفى أسامة علام
https://almanahj.com/ae/6math2
https://almanahj.com/ae/6math
https://almanahj.com/ae/6
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade6uae
https://www.facebook.com/grade6uae
http://bit.ly/2VZ9P69
https://t.me/uae6grade_bot
https://bit.ly/3sgt6Nz
https://bit.ly/3d3G9vw
https://bit.ly/3rgBjjD
https://bit.ly/2QCjuii
https://almanahj.com/ae/id=10880
https://almanahj.com/ae/id=10802
https://almanahj.com/ae/id=10802
https://almanahj.com/ae/id=10785
https://almanahj.com/ae/id=10786
https://almanahj.com/ae/id=10786
https://almanahj.com/ae/id=2228
http://www.tcpdf.org

JolgsJl Factors

Find the GCF of 15 and 18.

—_—

B
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GCF@mm Jalad) s
18515 gl

-— o=

13\
| 5\

/2

7

/6/9/\8

75 15
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The Ratio duwdl

Write the ratio that compares the ol @ s &laal) Jiad A dseail) S /\; { ) )
number of pens to the number of By gua bl L3 (el ol Up
pencils in simplest form. S :

UIB\\
i~
v ON

o0

\

F\

QE)(X g/,.ng_:J

(e Yy
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Unit Rate 3.>9¢J| Ja=o

Muneera divided 40 liters of paint e 8 Lo oDl e 1 40 Bpia Crand 4
among 8 containers. How much cadle < o oDl J)aka iy aS

paint is in each container?

’
TN

ide gs A o

a. 1 .. . . L) ~
Ellter in each container L—} O — g —_ L) \
\ ]
N

|

dde )< ol 8
8 liters in each container

(l

Al J< A 11 320

320 liters in each container

e Jg 2 alilb
d.
5 liters in each container

7

C.
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Ratio Tables cuwuil Jgla>

To make cranberry jam, you
need 12 cups of sugar for every
16 cups of cranberries. Find the
amount of sugar needed for

4 cups of cranberries.

Sugar (c) 7 12

Cranberries (c) | ¢ 4
a 4
b 8
< 6

Oa UsS 12 ) gliad (Sl Cigil) i pial
LS sagl () il o g€ 16 J<1 <)
ARl sl Ga sl 4 Al

24y

A o) «—12 3!
sl g (o) | 16 4 |
. —
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Equivalent Ratios disSieJl il

Determine the pair of equivalent Ay e sl o el ca ()] 453 KPS
ratios or rates. -{Alsia
2>z 0
— = e - > g
20 Jilea AED 8 ¢ ki 6 Jilia AED 3 ’ -
B4 20 &4 HEG — 74/6
AED 3 for 6 bagels; AED 8 for 20 bagels [~
~ //;\ l\(n"’\\ % s
T o~ _— ~—~— ————
oy Wi IS 7 Jilda AED 28 ¢35 D S 3 Jilia AED 12 ’L/ 3 \
AED 12 for 3 paperback books; AED 28 for 7 paperback books L‘ = ?

il

~ /\=
Slacdls Gagd 120 SloaY Aids 48 (5l Uagd 30 jloa¥ 458 15

15 minutes to drive 30 laps; 48 minutes to drive 120 laps

AED 45 Jlis Jae cleluw 9 ¢+ AED 12 Jilia Jae clela 3
3 hours worked for AED 12; 9 hours worked for AED 45
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Number of Calories a)ly=Jl Olysul dac

There are 810 Calories in 3 scoops
of vanilla ice cream. How
many Calories are there in 7 scoops

of ice cream?

dajha Baw 270
270 Calories

s b 387

b. 4 .
38 2 Calories

Ljbs 52u 5,670

5,670 Calories

—
djha 52w 1,890
d.
1,890 Calories

Ga @M 3 B A Clrw 810 sy
Aphal) Clawll axe oS LY clalis
Ll cilalia e 383 7 (A Bagasal
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The decimal $ ]l >a=ll

Write %as a decimal. S 22 5 pua gs% iy
— el
5 ~
215.0 __3’} 2 T e = RN
2o x5 loo
b. 1.5
0.20
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The percentage

[ X \o \O
—_ = — = loy
Write 0.1 as a percent. Aggiadpuispa b 0.1 08 S > lo X \o (oo

{3,10%) (6 \O.OL}, —
b. 0.01% |'O\ } —

¢ 1% —

d.0.1% —
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The order )il

Order 3
0.55,20% 2 4
. 1 0.7r2

51
0.55, 20%,;,2
oS ) ) G

from least to greatest.

@, O
\/ N—
1 5 5
a. 0.55,5,2(]%),? O_ . 6 / ZO /". / .D—
7 / 7
/ / 4
b. 209 1 0.55 >
. '-/U,E, ’— "7 /
//

-

5 ~
< 20%.0. 55,% 6. 56 / 0.20 / 6.7 / ‘S0
= .

5
d. 0.55,20%, 7

N =




Estimation a1l

Estimate 479 of 118.

a.75
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\)

—_—
—

118 o 47%@

[0 ¢

124 %
|

60

50 >

-4

—_—

r P



al_palil) gadat o cludaly ) cliladia) g a3k 5LE | gasls
https://t.me/alllaaam82

a0zl Discount

What expression can be used to Alaa) slagl B dalaiiu) Saal) il L
find the total discount? Saadl)

S— \ —
bl 3+4 —\ 6.3 x k2|
30 x 42 \—//_/

d. 0.03 x42
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4 gloJl dwill Percent
30 >~
120 is 30% of what number? €120 (53\_@3!\ aud L .

loo /™
E‘H}O!
L‘>
¢ 36 B ((:)D X%e__/

d 360 \
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22,36

diCNsJl 1lacS)l 2)bg o> Add and Subtract Decimals
T Adce™
\ e =~

Ahmad is creating a video. The first aia Jo¥) gall . guad adia oliil aaai A g
video clip was 22.36 minutes long. il G gially 4883 22,36 Asaa culs 9 “‘- ,5

= pletdiedy
The second video clip was SalaSly guasdll Saa S .488117.02 a3

——

17.02 minutes long.
What is the total length of the video?

ASIs 4 = OA « @D~

2.39.56 —

22-3% + T

b. 38.39 I:
(3933 .t
\ °7- 32

\

\)

v

E 39.38 \ C

d.5.34 —
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&ledl ya45 Estimate Products

Estimate 42.6 x 37.2. 42.6%37.2 )%

by . 277
[ X < T
a 42 x38 /
A~
L
é 43 x 37

¢ 43x38

d 42 %37
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IS dae o SENe dae uco Multiply Fractions and Whole Numbers

Find 4 x 0.012 4% 0.012 gl aagf
/. s .. _\ N ) | A [\L‘ w
1T /N O -0\ C .0 Vo /
2 0.084 -0 T
b. 4.08 Z“f X \L - Lt%

« 0.48

——
d. 0.048 \
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JaeSJl douwsd Divide Numbers

Find 768 =+ 8. 768 =+ 8@l

a 69 B / | % )r:lz—é?
L/} ) 72
- Ly

¢ 91 . At

oQ &

o O
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dyCNsJl XlacSJl douns Divide Decimals

Hind bought 5.75 yards of fleece cgeall (bl a5k 5,75 s il
fabric to make blankets for a o gliad Ay (A danaal ciliilhl) aial
charity. She needs 1. 85 yards of 2ue S L Agilas JSI GELadl) (a B8yl 1. 85
fabric for each blanket. How many plaiiuly lgria digl oS (Al claillaal)
blankets can Hind make with the TATAL) (M) gaail)

fabric she bought?

|.RE 5.%5

a 5.75+18.5

b. 57.5+1.85

¢ 575+ 18.5 1

(=] s

-+
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)9uSJl wco padi Estimate Products of Fractions

Estimate: HpTLY.ci| |

5 9 5 9

8" 10 Yy 8/ 10
K

|
_—x |
a 2 - 2.
b2 — \
10 - —
=
1
“2
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)98JI Fractions

A cat spends g of its life asleep. If 13 .agil 2 43 3 lgilas 0‘; Adagl) (i

a cat lives to be 15 years old, cale 15 saadl g A5 s (haad ddadl) cils
how many years does it spend Cagill 2 A3 3a \guali el alged) e agi
asleep?

=
a. 152 - 3

2
3

s 2. 15 0

—_—
7N - [§

2

) ,

1 S
o 145 5%3_ '02
g
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dJ¢NSJl »laeSJl uco Multiply Fractions

Find %x 1 %. Write in simplest form. @! g g X 1% e

.t
J Z b 7
10 . — >< P
— = 4
KO
12 by
b 10 ‘ 3
&% ]



